N & 0 & AH S & Al A

2A: SEL N
HE: MCK] X4 2 2Y
9l APQICHT] FPIOFS OIZAN! (0142 LAIRICHRI = 0IS R 010 FAI S 3 ) (e &2)
SA - FHB . GI(EN) - MRAY - B2 0fl &k o o HIRE2
SEOHE 14,632,000 85,714,000 A71,082,000
= 9,572,000
Al 5,060,000
AHEX T 2 2Y 10,855,237 81,818,062 A70,962,825
= 9,572,000
Al 1,283,237
AFACHT] FHOIS OIFAIE (22D A ST FHOISFT20IFAEEE S A) 10,855,237 81,818,062 A70,962,825
= 9,572,000
Al 1,283,237
Ol== A E X FB0IS FEI0IF=AY 10,749,483 81,773,562 AT71,024,079
= 9,572,000
Al 1,177,483
101 el24dl 12,483 21,562 29,079
10 JIZtMI22XsE= 12,483 21,562 29,079
O H===JhERROIE FR0IFAY 2482 H=2del URY 11,349
o oly| 36,3702 * 12 » 5 » 52 9,457
o Fitg 36,3703 * 1 * 52 1,892
O 5UAeIE2 1,134,000& * 14 1,134
207 HoHEd| 150,000 0 150,000
01 HAEYH 150,000 0 150,000
O H==20tateh ARG ZEZAHSEXT)Z3M Al - L2 ZAES
150,000,000& * 14! 150,000
305 HHA =S 15,000 15,000 0
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CH9l: APQICHT] ZPIOFS OIZAN! (014 LAIRICHRI = 0ISE0I 0 FAI S 3 ) (e &2)
SN EB . E(B) - HBEAY - BES Ol are o HIDS2
01 HHAZS 15,000 15,000 0
O 24323 A8HIE 15,000,000& * 14] 15,000
401 Al&HIZ 28I 10,572,000 81,737,000 271,165,000
= 9,572,000
Al 1,000,000
01 Al&HI 10,572,000 81,120,000 70,548,000
O H===0RE=HOIES F=0I0IFALY 24| 10,572,000,000& * 14 10,572,000
= 9,572,000
Al 1,000,000
olelbl 105,754 44,500 61,254
801 oildlbl 105,754 44,500 61,254
01 oligldl 105,754 44,500 61,254
O oyl 105,754,000& * 14 105,754
HREs(SZHL ) 3,722,000 3,843,000 A 121,000
BEXNE(H=2OMMLHXF=HOISFT 20| AL SESIH) 3,722,000 3,843,000 A121,000
SRSONES 3,722,000 3,843,000 A121,000
311 X+ S0l RHate 1,522,000 1,643,000 A121,000
02 Al -2 - AXGNLII SIS0 Xtat 1,522,000 1,643,000 A 121,000
O === FHOIS=RI0I=AIY XSS D3 Ol AtakE 1,522,000
o 22 11,000,000,000& (78lXt) 4,400,000,000& * 5.5/100 242,000
o &3 32,000,000,000& (32 Xt) 32,000,000,000& * 4/100 1,280,000
601 XtLSS4te 2,200,000 2,200,000 0
02 Al -2 - AXNGNLI SIS SA=4tE 2,200,000 2,200,000 0
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